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When voltage V is applied to the above battery, the currents shown in the table are
measured.

a)  Find a Thevenin equivalent model of the battery.

b) If a3 Q resistor is connected across the battery (instead of V), how much power is
dissipated in the 3 2 resistor?

sol.'n-.q) Vi, = V across bcrf:ﬁe.ry when nothing s
connectesd Lo the battery, ie., when
no Current (s :F/owénj

From the +table, we see that no current
flows when V = [oV, But TV (s the Vo[-éa?e_
across the Aqf‘é‘er/v. S0 V., =TV =/(0),.
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The akove dlqﬂmm shows +the cireutt model
when V=12V (and T=1A accor‘alt:mj 4o +he +able),

U\s?.n? a \)oH:qcie loop) we can determine +the
voltage olrof: across Ry, and +then we can use
Ohm's law +to Find the value of Ry from T
and V. Starting in the lower (eft comer of
-f_—j-lc_:, circu},—t, we hqrve the -Fo[(owinj V-loaf
egn:

V-V, -V, =ov

or
12V -y, - 10V = ov
or
2V -V, = oV
or

V,= 2V

So we <an pow compute Rry-
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We have a veltage divider circuit.

Vo = Wy B = |ov(§> = 6V
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We can Comrswi:e I, Sfrom Ohm's l(aw:

Iz:_‘fj’; =EY = 2A
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our power s P= Tyl = 2A-06V = [2W.

z
Note: we could also say F= \_{; =(@V) = 12W,
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